[ehigtiRERE <y 1 BIEE(FE/R31E28) [11 1= )

KIN—ERIF. FAEZAOAEME(FESTM)EERNTEITREHELLZLNTY,

B E 5P
" RYDS
B WRIE | R i
K = - [BS4I: ¢ Sv/h] . o | e
_ . __ Iy 1BE| BEES
TER ZEE %m Eih 0.30 0873 01
[ = :’“—;E Eih 0.20 0874 02
TR P3 L %E# %%tﬂ 0.11 0995 03
iR ST 2 B2 F| 0.10 0950 03
TR P3 L £ = b 0.18 0830 02
=k 31 o %tﬂ 0.23 0997 01
TR AEE £ ?ei:z— T 0.16 0829 02
[ = 9‘(,%¥ Eih 0.21 0872 01
HEE ~Es j(;,'zﬁl] Bih 0.18 0829 03
[ = RS Eih 0.04 0818 01
TR P3 L A% %%tﬂ 0.05 0818 02
HiER S A3 E/\ F 0.05 0818 03
TR AEE in ;Tl T 0.10 0952 02
- = i EHh 0.19 0953 01
111 A#EE I E I = s 0522 o
Hisk S *EJ)_;; Bl FAI7ILE 0.09 0952 01
EE | KBaE L#m@ e - 0956 0
ol = L Bih 0.18 0996 02
el | ABE 5 [m—L ot G870 or
11{EE REE J:/FEHT ET‘*IJ o0 o011 0
TelE | REE T e S 05t B
ol = L Bih 0.22 0830 01
i 2EL L Hih 0.20 0954 01
ol = 25”% Eih 0.12 1037 02
i 2EL %n% EHih 0.23 1037 03
ol = 25”% Eih 0.24 1038 01
=k | KEA 5 Em STl 514 0
IR P31 ?')EI\EH = ih 0.21 0914 02
- e ﬁéaa Eim 0.20 0998 03
EE | KEE AR = oo 0753 0
I 2T 2% ff%ﬂﬁ 0.10 0793 03
11158 XELE E:E'\TS;Q L o 0913 07
=8 | KEBE R e i o5t o
IR 225 2 Eih 0.23 0998 01
e | KEE B e e 0813 i
IR 225 A b 0.37 0913 03
I 2T ré;ﬁ&n ff%ﬂﬁ 0.11 0792 01
R | REE RAE e 5 TH] 0
=k | AEA L o s ot o
TR P31 _F/% Eih 0.09 0829 01
L 22 L FAI7ILE 0.08 0870 04
15 | KEE *H - ot 0017 s
L 22 AH FAI7ILE 0.09 0912 04
TR P31 B Eih 0.09 0911 02
1128 | KEB& EZ o i 0658 N
TR P31 E%é %ﬂz 0.18 0995 02
iR 2EL E2 2 R 0.10 0996 01
TR P31 ﬁ% Eih 0.08 0871 03
ek | KEA =/ o o o811 0
L ~Es = 7’J\Z77)bl~ 0.07 0911 04
HiER 22 = R ET\ﬂJ 0.11 0950 02
Tz AEE i ] 0.18 0872 02
e REE e B 0.18 0872 03
TR P31 e #ffﬂt 0.18 0873 03
HiER 22 B E/\ ] 0.08 0912 03
=k | KEE B T i 0315 N
1158 KELE s & o 1040 0i
TR P3 L E?% % b 0.18 1040 01
7 b 0.28 0913 01

1 R=2




[ehigtiRERE <y 1 BIEE(FE/R31E28) [11 1= )

KIN—ERIF. FAEZAOAEME(FESTM)EERNTEITREHELLZLNTY,

BB >
& R | ) P i
. = - [BEfZ: ¢ Sv/h] . _
_ _ A EES | ERES

11{E% REHE IR & )
e e = fh %I 0.11 0832 01
e 2EL E ‘E %éit: 0.08 0996 03
s ot %E\EE h 0.20 0953 02
e e *E.Em;t Eih 0.15 0912 01
s S EJ“ i}ﬁ B 0.15 0720 01
el 2E= EHT? R EHh 0.07 0755 01
el 2= ﬂ%m 21 0.13 0951 01
== 2E= E#;i b F| 0.11 0831 01
el 2= *ﬂ-gm 2ih 0.13 0870 03
e e iﬁ'b’zlll Eih 0.09 0755 02
s S ;ﬂ'&m %ﬁﬁ\tﬂ 0.09 0755 03
[ = El i O F 0.08 0756 01
el 2= % ? Efﬂz 0.23 0912 02
e s Fi 0.22 0952 03
ez T ﬁgF‘ Eiih 0.19 0952 04
e s m%:;gu Eih 0.29 1039 01
= e ﬁmﬁl Bih 0.25 0831 03
Hisk ST 2 2 Eih 0.23 0995 01
111588 KELE =/TF gfﬁ i T or
=k | KEE % HEM b oG To 0
111588 KELE KXEFE K 25 e 035 02
e s =5 ] Eih 0.26 1039 03
e e e 2ih 0.09 0950 01
R o5 == 1Rt 0.14 0951 03
e S zs?% 2ih 0.23 0955 03
ol = ot FAI7ILE 0.10 1003 06
= £2 £ 2ih 0.22 1042 01
e == 15% FAI7ILE 0.09 1004 01
e s Jli 2 Bih 0.09 1005 03
e £2 T Ei{b 0.21 1041 02
e T 2AL Bt 0.18 0915 03
e 2 R Bih 0.25 0916 04
e £2 s 2ih 0.11 0917 01
e == 'ég;?f\ B FAI7ILE 0.12 0960 02
el = é@ig FAI7ILE 0.09 0918 01
iz i J# E’j& Eih 0.26 0917 02
HiZ 2 28 %mg* 2ih 0.10 1004 05
e T J:ﬂgi;;'; Bih 0.20 1042 02
e £2 = 2ih 0.15 0999 03
e B T Bih 0.25 0958 03
e oo -':z: _ B 0.10 1041 03
e B2 ::¢Vh FAI7ILE 0.14 1004 02
e £ : :7@; B 0.08 1002 07
e B EE £ Bih 0.25 0955 02
e oo HE B 0.09 0961 05
iz £ :7/];53 FAI7ILE 0.12 0959 07
e £ 1‘,7 (1 B 0.15 0959 08
s 22 X B 0.09 0918 05
HiEk 22 2K FAI7ILE 0.10 0959 02
e B 1;;,3257 Eih 0.08 0959 03
ez i L1 KEE FAI7ILE 0.10 0918 04
e B2 ;kﬁ Eih 0.09 1003 07
HEL 22 :ﬁéﬁ FAI7ILE 0.10 1046 02
s 22 ‘Fffﬁﬂf B 0.10 0955 01
e s I i;g Bih 0.30 0998 02
s 22 i A Eih 0.20 0999 01
e s T&m gm 0.08 1002 02
sl B ‘ B F 0.16 1003 09

i TR FAI7ILE 0.12 1003 10

2 R—=Y




[eTHREHEERE<Y T JBIEE(CER31E2A) [11 {8 )

KIN—ERIF. FAEZAOAEME(FESTM)EERNTEITREHELLZLNTY,

Al 1E D
- /ﬁ]EiﬁFﬁ s - ﬁ&%ﬁ%ﬁ% Aya
e WRSE | [ g sv/n]
K= INE ' Ay BE | HES
11158 £ BHH Hih 0.19 0873 02
11158 fEN BHH B 0.28 0874 03
1118 gL 5 EHh 0.14 0959 05
11158 i) 5 FAI7ILE 0.10 0959 06
111218 EA ZrET= B 0.16 0915 01
11158 fEN HKE FAI7ILE 0.11 1004 04
11588 EA H5 2ih 0.19 0959 01
11158 i) I FAI7ILE 0.10 0915 02
11588 EA EEROE 2ih 0.20 0874 01
1158 B BEAMK Eih 0.17 1000 02
11588 A B 2 0.11 1041 01
1158 i) 1% B 0.30 1001 02
11588 EA g 2ih 0.12 1002 04
11158 fEN el FAI7ILE 0.09 1002 05
11588 A el 2ih 0.16 1002 06
11158 i) FH FAI7ILE 0.12 0960 04
118 EEEA CaEAN: ] FAI7ILE 0.08 0960 05
11158 EEEA Fh T 2 0.10 0916 03
11{EE A haHh 2ih 0.15 0960 03
11158 fEEN g Hih 0.28 0997 02
1118 EEEA [P b F 0.09 1003 11
11158 EEEA 1= FHr R 0.09 0957 03
115 [P A FAI7ILE 0.20 0961 04
11158 B5a BX B F 0.08 1000 01
115 EEEA SR Hifh 0.30 0956 01
11158 EEEA AR Hih 0.27 0999 02
115 FEES RKIA 2ih 0.24 0914 01
11158 5B K/A Eih 0.11 0915 04
11{Ef& EEEA HAElR Hifh 0.26 0957 01
1115 £ BI=AK Bih 0.33 0956 03
11188 EA il H FbF 0.13 1001 01
11158 5B B Bih 0.25 0958 02
115 A B #h 2ih 0.09 0961 02
1115 £ HES Zih 0.27 0958 01
11{Ef& EEEA JERA Hifh 0.25 0916 01
11158 FEEA JERS Hih 0.24 0917 03
115 A Ei5 2 0.09 0960 01
1115 £ HiZ Eih 0.09 1002 09
11188 EEEA Ei5 e 0.14 1003 01
11158 gA Hi5 g 0.16 1003 02
11158 fEEN Ei5 Eih 0.17 1003 12
11158 a8 EiZ b F 0.07 1003 14
11158 EEEA E—AN o F| 0.11 1003 08
11158 £a HEE Bih 0.33 0957 02
11158 EEEA FH B 0.14 1003 03
111ERE a8 M FAI7ILE 0.11 1003 04
11158 EEEA FH Eiih 0.11 1003 05
1115 £a FHH Eih 0.16 1003 13
11158 EEEA FH B 0.09 1003 15
11158 a8 a1 [ A FAI7ILE 0.09 0916 02
11158 fEN Kihch B 0.11 1004 03
11158 £a 2 Hhai FAI7ILE 0.12 0961 01
11158 A 2 Hh il FAI7ILE 0.14 1005 01
1115 a8 B Hih 0.12 0959 04
1158 fEEN =E54 2 0.10 1002 03
11158 L B BF FAI7)LE 0.10 1002 08
1158 i) R B 0.10 0914 03
11158 L R Hih 0.45 0956 02
11158 EA=TH b F 0.24 0875 03




[emRsHEEAE~YY T JAIEECERI1E2A8) [11 {E5% )

KIN—ERIF. FAEZAOAEME(FESTM)EERNTEITREHELLZLNTY,

5 I A=~ - )(“ N
& b R | ) P -
x% nE B ASIT yos 2 me | mEES
111 ER/IEL=TH Hih 0.27 0875 02

4 R—




